Hexachlorocyclopentadiene
Response Ratio

Amount Ratio

Resp Ratio = 3.25e-001 * Amt - 1.0l1le-001
Coef of Det (r"2) = 0.992 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF061715_.M
Calibration Table Last Updated: Wed Jun 17 16:41:53 2015




2,4-Dinitrophenol
Response Ratio

Amount Ratio

Resp Ratio = 1.32e-001 * Amt - 3.86e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_F\METHODS\8270-BF061715_.M
Calibration Table Last Updated: Wed Jun 17 16:41:53 2015




Response Ratio

4,6-Dinitro-2-methylphenol

Amount Ratio

R = 1.37e-002 A*A + 7.32e-002 A - 1.31e-002

CoefT of Det (

rr2) = 0.996

Curve Fit: Quadratic

Method Name:

Z:\HPCHEM1\BNA_F\METHODS\8270-BF061715.M

Calibration Table Last Updated: Wed Jun 17 16:41:53 2015




